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¥~ it (5T MatLab 7250

close all;clear all;clc;

% A" 4R T

[
()

pic=17;% P& 5 A= 48

ni=55; % P& 5 & & ¥

dt=1/15; %Pe 5 P& B F¥ 1§ (secend)

xstart=10; %i% B~ 3 %}fi,z';\bg% # domain

xend=475; % &

ystart=215;

yend=790; % %

datapixelB=100; % X T F By & & TR B %black (FPFIRB~Z fEpTd R H)
datapixelRmax=45; % % TF L BEO A FF 4 % Tl & %red
datapixelRmin=35; % & TF K B[4 & % Tl & %red
datapixelW=230; % % T F B % % TR B % white

xmark=1.0; % $rB~38LF A (cm) H oo A

pxyco=[];
for select=1:1; %black =1;red=2;white=3; :E#pE¢ fasf

choose=select;
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[
()

T=(ni-1)*dt;% 27T
pxy=zeros((ni-pic)+1,2); % P & FREEF AL
ratio=[];
for i=pic:ni
clf
%Contrast stretching
A8=imread([ num2str(i,'%08d') .png'l); %k P~#h % & ¥ hljpg .png
A64=double(A8);  %j¥_unit8->double64
Agray=(A64(:,;,1)+A64(:,;,2)+A64(:,:,3))/3; %i#&E RGB 5 = % [¥
image(Agray);hold on;
colormap(gray(256)) %* % F# 256 % 7%
if choose==1
[row,col] = find (Agray(xstart:xend,ystart:yend)<datapixelB); %:£ B~ F L gL+ ] 2 R LFHBOARFEFRA E
end
if choose==2
[row,col] = find (Agray(xstart:xend,ystart:yend)<datapixelRmax & Agray(xstart:xend,ystart:yend)>datapixelRmin);  %:% B~ 7 4 245 ]
end
if choose==
[row,col] = find (Agray(xstart:xend,ystart:yend)>datapixelW); %:E B~ FH B B 2 & LFHBOAF S IRA & 22299997
end
rowmean=mean(row)+xstart;
colmean=mean(col)+ystart;
pxy(i-pic+1,1)=rowmean;% y
pxy(i-pic+1,2)=colmean;% x

plot(colmean,rowmean,'or')

if i==pic & choose==1 % black
[pix,piy] = ginput(2); % pixel TR
end
hold on
plot(pix(1),piy(1),".green');
hold on
plot(pix(2),piy(2),".green’);
coldist=pix(2)-pix(1);
ratio=xmark./coldist;
t=[num2str((i-1)*dt)];
title ('time = ', t ' (sec)])

if choose==1
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print('-dpng',['B_findp' num2str(i,'%08d")])
end
if choose==2
print('-dpng',['R_findp' num2str(i,'%08d")])
end
if choose==3
print('-dpng',['W_findp' num2str(i,'%08d')])

end

clear A8 A64

clf

end
pxyco=[pxyco;pxyl;
figure(1)
image(Agray);hold on;
colormap(gray(256)) %* # F¥ 256 % 7+
save('pxyco.txt','pxyco’,"-ascii')
hold on
plot(pxy(:,2),pxy(:,1),".r')
picc=num2str(pic);
nic=num2str(ni);
if choose==1
print('-dpng',['B_findpall',picc,'-',nic])
end
if choose==2
print('-dpng',['R_findpall',picc,'-',nic])
end
if choose==
print('-dpng',['W_findpall',picc,'-',nic])
end

%ratio=mean(ratio);

%P~ Y (L2 ) b A EHPERTH R -t
figure(2)

time=[1:1:length(pxy(:,1))]*dt-dt;
plot(time,(pxy(:,1)-pxy(1,1))*-ratio,'b-0');
xlabel('time (sec)')

ylabel('y-displacement (cm)')

if choose==1
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print('-dpng','B-Y-T')

end

if choose==2

print('-dpng','R-Y-T')

end

if choose==3

print('-dpng','W-Y-T')

end

%P~ X(PkT)> o =B EPFRAM R xt
figure(3)
time=[1:1:length(pxy(:,2))1*dt-dt; % F¥ ¥ & #c
plot(time,(pxy(:,2)-pxy(1,2))*ratio,'b-0");
xlabel('time (sec)')
ylabel('x-displacement (cm)')

if choose==1

print('-dpng','B-X-T')

end

if choose==2

print('-dpng','R-X-T')

end

if choose==

print('-dpng',"W-X-T')

end

% x-y $LE" B

figure(4)
plot((pxy(:,2)-pxy(1,2))*ratio,(pxy(:,1)-pxy(1,1))*-ratio,'b-0')
xlabel('x-displacement (cm)')
ylabel('y-displacement (cm)')

axis equal

if choose==1

print('-dpng','B-X-Y')

end

if choose==2

print('-dpng','R-X-Y')

end

if choose==3

print('-dpng','W-X-Y')

end
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% dV B

Vy=[];vx=[];

for f=1:length(pxy(:,1))-1; % % A& ¥ #c
dy=(pxy(f+1,1)-pxy(f,1))*-ratio/dt;
Vy=[Vy;dyl;
dx=(pxy(f+1,2)-pxy(f,2))*ratio/dt;
Vx=[Vx;dx];

end

%Vx-t B Vy-t B Vx-Vy B
figure(5)
Vc=2;
plot(Vx,Vy,'bo')
if max(Vx)+min(Vx) >0
xlim([-Vc*(max(Vx)+min(Vx)),Vc* (max(Vx)+min(Vx))])
else
xlim([Vc* (max(Vx)+min(Vx)),-Vc*(max(Vx)+min(Vx))])
end
if max(Vy)+min(Vy) >0
ylim([-Vc*(max(Vy)+min(Vy)),Vc* (max(Vy)+min(Vy))])
else
ylim([Vc*(max(Vy)+min(Vy)),-Vc*(max(Vy)+min(Vy))])
end
title(['Vx-Vy & & B]')
xlabel('Vx (cm/s)')
ylabel('Vy (cm/s)")
axis equal
%print('-dpng','Vx-Vy')
if choose==1
print('-dpng','B-Vx-Vy')
end
if choose==2
print('-dpng','R-Vx-Vy')
end
if choose==3
print('-dpng','W-Vx-Vy')
end
figure(6)

Vcx=10; % v scale
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Vey=1.25; % v scale
subplot(2,1,1)
plot(time(1:f),vx,'bo-")
mvx=mean(Vx);
title(['Vx _a_v_g=',num2str(mvx),’ cm/s'])
if max(Vx)+min(Vx) >0
ylim([-Vex* (max(Vx)+min(Vx)),Vex* (max(Vx)+min(Vx))])
else
ylim([Vex* (max(Vx)+min(Vx)),-Vex* (max(Vx)+min(Vx))])
end
ylabel('Vx (cm/s)")
subplot(2,1,2)
plot(time(1:f),Vy,'bo-')
mvy=mean(Vy);
title(['Vy _a_v_g=',num2str(mvy),’ cm/s'])
if max(Vy)+min(Vy) >0
ylim([-Vey*(max(Vy)+min(Vy)),Vey*(max(Vy)+min(Vy))])
else
ylim([Vey*(max(Vy)+min(Vy)),-Vey*(max(Vy)+min(Vy))])
end
xlabel('time (sec)')
ylabel('Vy (cm/s)")
if choose==1
print('-dpng','B-Vxy-T')
end
if choose==2
print('-dpng','R-Vxy-T')
end
if choose==
print('-dpng',"W-Vxy-T')
end
figure(7)
fac=0.04; % arrows scale
div=2; % text location
pp=length(pxy);
Vavg=complex(Vx,Vy);
plot((pxy(1:pp-1,2)-pxy(1,2)).*ratio,(pxy(1:pp-1,1)-pxy(1,1)). *-ratio,'bo')
axis equal

arrows((pxy(1:pp-1,2)-pxy(1,2)).*ratio,(pxy(1:pp-1,1)-pxy(1,1)).*-ratio,Vavg,fac,'k')
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distx=pxy(2,2)-pxy(1,2);

disty=pxy(2,1)-pxy(1,1);

forii=1:pp-1

Vavgl=sqrt(Vx.A2+Vy.A2);

end

Vavgm=mean(Vavgl);

Vavgstr=num2str(Vavgm);

title(['V_a_v_g='Vavgstr,’ cm/s'])

xlabel('centimeter')

ylabel('centimeter')

if choose==1

print('-dpng','B-V-avg')

end

if choose==2

print('-dpng','R-V-avg')

end

if choose==

print('-dpng','W-V-avg')

end

figure(8)

acx=5; % a scale

acy=2.5;

ax=[J;ay=(];

for i=1:length(Vx)-1
dax=(Vx(i+1)-Vx(i))./dt;
ax=[ax;dax];
day=(Vy(i+1)-Vy(i))./dt;
ay=[ay;day];

end

subplot(2,1,1)

plot(time(1:f-1),ax,'bo-')

meax=mean(ax);

title(['a_x _a_v_g= ',num2str(meax),’ cm/s"2'])

if max(ax)+min(ax) > 0
ylim([-acx*(max(ax)+min(ax)),acx*(max(ax)+min(ax))])
else

ylim([acx*(max(ax)+min(ax)),-acx*(max(ax)+min(ax))])

end



ylabel('a_x (cm/s”2)')
subplot(2,1,2)
plot(time(1:f-1),ay,'bo-')
meay=mean(ay);

title(['a_y _a_v_g= ',num2str(meay),’ cm/s"2'])

if max(ay)+min(ay) > 0

ylim([-acy*(max(ay)+min(ay)),acy*(max(ay)+min(ay))])

else
ylim([acy*(max(ay)+min(ay)),-acy*(max(ay)+min(ay))])

end

xlabel('time (sec)')

ylabel('a_y (cm/s"2)')

if choose==1

print('-dpng','B-axy-T')

end

if choose==2

print('-dpng','R-axy-T')

end

if choose==3

print('-dpng','W-axy-T')

end

figure(9)

axyc=5; % axy scale

plot(ax,ay,'bo')

title(['a_x-a_y A fs B')

if max(ax)+min(ax) > 0

xlim([-axyc*(max(ax)+min(ax)),axyc*(max(ax)+min(ax))])

else

xlim([axyc*(max(ax)+min(ax)),-axyc*(max(ax)+min(ax))])

end

if max(ay)+min(ay) > 0

ylim([-axyc*(max(ay)+min(ay)),axyc*(max(ay)+min(ay))])

else
ylim([axyc*(max(ay)+min(ay)),-axyc*(max(ay)+min(ay))])

end

xlabel('a_x (cm/s72)'")

ylabel(‘a_y (cm/s”2)')

axis equal

%print('-dpng','a_x-a_y')
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if choose==1

print('-dpng','B-a_x-a_y'")

end

if choose==2

print('-dpng','R-a_x-a_y'")

end

if choose==3

print('-dpng','W-a_x-a_y')

end

figure(10)

faca=0.005; % arrows scale

diva=1; % text location

pp=length(pxy);

aavg=complex(ax,ay);
plot((pxy(2:pp-1,2)-pxy(2,2)). *ratio, (pxy(2:pp-1,1)-pxy(2,1)). *-ratio,'bo’)
axis equal
arrows((pxy(2:pp-1,2)-pxy(2,2)). *ratio, (pxy(2:pp-1,1)-pxy(2,1)).*-ratio,aavg,faca, 'k')
distx=pxy(3,2)-pxy(2,2);

disty=pxy(3,1)-pxy(2,1);

for ii=2:pp-2
aavgl=sqrt(ax.A2+ay."2);
end
aavgm=mean(aavgl);
aavgstr=numa2str(aavgm);
title(['a_a_v_g=',aavgstr,’ cm/s"2'])
xlabel('centimeter')
ylabel('centimeter')

if choose==1
print('-dpng','B-a-avg')
end

if choose==2
print('-dpng','R-a-avg')
end

if choose==3
print('-dpng','W-a-avg')
end

figure(11)

Vavglc=2;
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plot(time(1:f), Vavgl,'bo-')
Vavg=mean(Vavgl);
Vavgstr=num2str(Vavg);
title(['V_a_v_g= 'Vavgstr, cm/s'])
xlabel('time (sec)")

ylabel('V  cm/s')

if max(Vavg1)+min(Vavgl) >0

ylim([-Vavglc*(max(Vavgl)+min(Vavgl)) Vavglc*(max(Vavgl)+min(Vavgl))])

else

ylim([Vavglc*(max(Vavgl)+min(Vavgl)),-Vavglc*(max(Vavgl)+min(Vavgl))])
end
if choose==1

print('-dpng','B-V-t')
end

if choose==2
print('-dpng','R-V-t')
end

if choose==
print('-dpng','W-V-t')

end

figure(12)

aavglc=2;

plot(time(1:f-1),aavgl,'bo-")

title(['a_a_v_g=',aavgstr,’ cm/s"2'])

xlabel('time (sec)')

ylabel('a cm/s*2')

if max(aavgl)+min(aavgl) >0

ylim([-aavg1lc*(max(aavgl)+min(aavgl)),aavglc*(max(aavgl)+min(aavgl))])

else
ylim([aavglc*(max(aavgl)+min(aavgl)),-aavglc*(max(aavgl)+min(aavgl))])

end

if choose==1

print('-dpng','B-a-t')

end

if choose==2

print('-dpng','R-a-t')

end

if choose==3
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print('-dpng','W-a-t')
end
end

[
()

figure(13)

image(Agray);hold on;

colormap(gray(256)) %* # F# 256 % 7= [1-1.jpg]
len=ni-pic+1;

if select>=1

plot(pxyco(1:len,2),pxyco(1:len,1),".b')

hold on

end

if select>=2
plot(pxyco(len+1:2*len,2),pxyco(len+1:2*len,1),".r')
hold on

end

if select>=3
plot(pxyco(2*len+1:3*len,2),pxyco(2*len+1:3*len,1),".w')

end

print('-dpng',['findpall',picc,'-',nic])

figure(14)

fac=0.04; % arrows scale

div=2; % text location

pp=length(pxy);

Vavg=complex(Vx,Vy);
plot((pxy(1:pp-1,2)-pxy(1,2)).*ratio,(pxy(1:pp-1,1)-pxy(1,1)). *-ratio,'bo’)

axis equal
arrows((pxy(1:pp-1,2)-pxy(1,2)).*ratio,(pxy(1:pp-1,1)-pxy(1,1)).*-ratio,Vavg,fac,'k')
%arrows((pxy(pp-3,2)-pxy(1,2)).*ratio,(pxy(3,1)-pxy(1,1)).*-ratio,Vavg(1),fac,'k');
distx=pxy(2,2)-pxy(1,2);

disty=pxy(2,1)-pxy(1,1);

forii=1:pp-1

Vavgl=sqrt(Vx.A2+Vy.A2);
%text((pxy(ii,2)-pxy(1,2)+distx/div). *ratio, (pxy(ii,1)-pxy(1,1)-disty/div).*-ratio,[num2str(Vavg1(ii)),' cm/s'],'color",'r");
end

Vavgm=mean(Vavgl);

20



Vavgstr=num2str(Vavgm);
Vn=length(Vavgl);

diffv=[];

for n=2:Vn
diffV1=abs(Vavgl(n)-Vavgl(n-1));
diffv=[diffVv;diffv1];

end

Vnum=find(diffV==max(diffV));

Vw=Vavg1(Vnum);
Vwstr=num?2str(Vwy);
Vo=Vavgl(Vnum+1);
Vostr=num2str(Vo);
N=Vo./Vw;

Nstr=num2str(N);

hold on

plot((pxy(Vnum:Vnum+1,2)-pxy(1,2)).*ratio, (pxy(Vnum:Vnum+1,1)-pxy(1,1)).*-ratio,'rs')
title('V.w_a_t e r= 'Vwstr cm/s , V. o.il= 'Vostr, cm/s , n= 'Nstr])
xlabel('centimeter')

ylabel('centimeter’)

if choose==1

print('-dpng','B-N')

end

if choose==2

print('-dpng’,'R-N')

end

if choose==

print('-dpng’,'W-N')

end
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